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Note: 1. Answer any Foilr fill qués
2 QmNG. ;

1 a Whatmanopummuonmehﬁqne i
b. List out differences between PER’ M_GPM‘

¢. Solve by using graphical method :|
Objective function : Max:mml#&x-l-#y‘

~ Subject to constraints : 2x+3y21}2 dx4ym

‘&”97912 , %,y20.
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i) Critical path
Actmty
Actmtydtnamnm(m) ﬁ” 1 104

.3 a. State the rule of dominance in contex
B ) Themmalsolmonofatypwal_x__;_z
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)‘Is thu soluuon opt:mal?
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Use the following.
weiting time of ¢

, 07, 32, 16, 15 78, 87

20f3

19, 24, 26, 16, 28, 22, 98,

‘:umeismoreﬂnnSmmMessuggestueond”

(10 Marks)




7 a. Whatis a non-negative restriction?
b. Find the initial solution by VAM for the given transportation model :

C.

Ao om

To >
From P | Q| R | S |Supply
A 20 [ 21 [ 16 | 18 | 150
_|__B 17 | 19 [ 28 [ 15 | 350
Max(Z) C 30 | 24 | 22 | 23 | 400
D 25 |36 [ 27 [ 29 | 100
Demand 250 | 200 | 150 | 400

A project is represented by the network shown in Fig.Q7(c):

Task | A{B|C|D[E|[F{G|H|I
t s5118[26116115/6 171713
t, 10/22]40120]25112]12]9 |5
tm g [20[33]18]20] 9 (10|84

Determine : i) Total project duration
il) The critical path
iii) The probability of project completion by 41.5 wks.

Area under normal distribution (Z value)

Z1 | 0.00

- 0.01

0.02

0.03

0.04

0.05

0.4 | 0.6554

0.6591

0.6628

0.6664

0.6700

0.6736

0.5 { 0.6915

0.6950

0.6999

0.7054

0.7088

0.7123

0.6 { 0.7253

0.7291

0.7324

0.7354

0.7387

0.7422

(portion of Z - table)

Write short notes on the following :

Waiting line structure

Network topology and event labeling
Classification of OR models
Monte-Carlo simulation methods.
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(07 Marks)

(10 Marks)
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